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Prob!a.m 1) Modrf'la tHhe Routh’s cvritevior o0 that zh
qppligg 4o the case im» whiclh all HAe fO'QS
oaxk +to tht |eft of (~x) when g >0 .
Apply the modufied +ert +o Hhe PO'lﬂhomiR\
B+ (6+ K +(§+6KIs+ Sk =0

find Hrose values of IK for nhich all po'eo have
a real part < (-1,

Solution
SO Yuiohe,

W(’. will ghif+ +he Po'vahom{a‘ -‘:uhc“l:‘im b-} Vq‘n'a\b[z
substtution & apply thr standavol +est o +ine

New Vaxriable |
let p= S+ i-e. S:(?—o()

Nete that 850 i eqrlt to 9=
or S=Lw) e eqvh to p=o0
D the mery Im. oxis for p # Now at $26w)

8o we cawn a]:plva Rouths cviterion v P o ‘31‘1‘ k.

(p-1P+ (6+K)I(p-1'+ (S+6KI(P-D+ Sk =4
D P+ (3+K)p 4 (4K-wp+) = ©

Routh avra ta is

P (4 k=4

Po (3+k) 1

¢ D GHRIAK=9)-1 o
(3+K)

pe: 1

Firt eloment of clumw 1 >0
D for stability all clomenty >0



Problern 3)
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Problern 2) contd. .
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